Multiplication Meanings and Representations

	Multiplication Fact or Multiplication Sentence
	Words (using sets, groups or rows)
	Repeated addition

	2 x 6 = 12
	2 groups of 6 equals 12
	6 + 6 = 12

	Picture
	Array
	Number line

	
  * * *        * * *

  * * *        * * *
	* * * * * *

* * * * * *
(showing 2 groups/rows of 6)
	

0                 6                 12


Multiplication Strategies

As most of us are aware, multiplication is a way of counting groups of a certain number.  Like 8x3 represents 8 groups of 3 or 3+3+3+3+3+3+3+3.  

Keep in mind that while we study multiplication, we do consider the order of the factors.  5x6 means 5 groups of 6.  However, to find the product, you can use a 5’s trick to help you as 5x6 (5 groups of 6) and 6x5 (6 groups of 5) will have the same product, but they do have different meanings. 

Zero Heroes – Anything x 0 is always 0.  

Think about it, if you have 7x0, that’s 7 groups of nothing, which is still nothing.  Or if you have 0x4, that’s no groups of 4, which still gives you nothing.

Ones are Fun! – Anything x 1 is always that same number.
1x7 means 1 group of 7 x x x x x x x x which is 7.

3x1 means you have 3 groups with 1 in each group.   x    x    x  which is 3.  
Double 2’s
· Use doubles – think of 2x7 as double 7, and you know 7+7 = 14

· Count by 2’s – 4x2 count my 2’s 4 times: 2, 4, 6, 8 so 4x2 =8
Terrific 3’s
· Double and add one more group!
3x7 ( 2x7 = 14, plus one more group of 7 is 21
Fantastic 4’s – aka a Tim Horton’s double-double
Take 4x7 (or 7x4 as they will both have the same result), this can be split up.  4 groups of 7 (4x7) can be split up into 2 groups of 7 (2x7) plus 2 more groups of 7 (2x7).  2’s (or doubles) are much easier to deal with than 4’s).

( (4 groups of 7)
4x7 (  2x7 = 14
(2 groups of 7) PLUS





+2x7 = 14
(2 groups of 7)





           28
= 4 groups of 7

Although this may appear to be an extra step, it makes multiplying 4’s much more manageable to students
( Take 2x7 and double it (double the double, a double-double!)
Fancy 5’s - Skip count by 5’s!  6x5, count by 5’s 6 times (5, 10, 15, 20, 25, 30)
Super 6’s and 7’s
As multiplying by 4 can be split up, so can multiplying by 6’s or 7’s.  Take 6x8 for example.  This can be split up in to more manageable groups too.  Most of the kids count very easily by 5’s, so try separating out 5 groups, and adding that product to the amount that remains.  

Here is an array for 6x8 (or 6 groups of 8):
	
	
	(5 groups of 8)

5x8 = 40
	(6 groups of 8) 
6x8 ( 5x8 = 40    (5 groups of 8) PLUS
           +1x8 =   8    (1 group of 8)

                      48    = 6 groups of 8

	
	
	
	

	
	
	(1 group of 8)

1x8= 8
	


With 7 instead of six you’re simply doubling the last step (have 2 groups instead of 1).
Here is an array for 7x8 (7 groups of 8):
	
	
	(5 groups of 8)

5x8 = 40
	(7 groups of 8) 
7x8 ( 5x8 =  40  (5 groups of 8) PLUS

          +2x8 =  16   (2 group of 8)

                      56   = 7 groups of 8

	
	
	
	

	
	
	(2 groups of 8)

2x8= 16
	


This is a lot easier than adding 8+8+8+8+8+8 for 6 groups of 8!  Also keep in mind that even if the factors are reversed (like 8x6 for example) you can still apply the same strategy.
You can also use counting on a calendar for 7’s (how many days in 1 week, 2 weeks, 3 weeks, etc.)

Electrifying 8's
· Double the 4's fact – An Extra Large Tim Horton’s Double Double!
· Do 9 groups of something, and then take away a group
( 9 groups of 4 = 36, take away a group of 4 leaves you 8 groups 4( 36-4 = 32
Nifty 9’s
· Use a pattern, use 9x4 for example.  
· Looking at the number in the multiplication fact that is not 9, the tens digit in the product (or answer) will always be 1 less than that number.  In this case, 1 less than 4 is 3, so 3 is the tens digit.  
· Also, the two digits of the product will add to be 9, so 3 + __ = 9 ( 6!  Therefore 6 will be the ones digit and you answer is 36!  
· Try this with any 9’s multiplication fact up to 9x10.  It really works!
· Use your 10 facts

· 9x8 (9 groups of 8) is just a group away from 10x8 (10 groups of 8)

· 10x8 is 80, take away a group of 8 from that, leaves you 9x8, 80-8 = 72

· Use the finger trick!

	  Step 1
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Put your hands on the table in front of you. 
	Step 2
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Your fingers represent the numbers 1 through 10.
	Step 3
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Curl under the FOURTH finger to represent 4 x 9.

	Step 4
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	 - Each finger to the left of the curled (the fingers you’ve already counted) finger represents 10. 
- Each finger to the right of the curled finger represents one.


	


Important note!

( If being asked to find the product, students may use a strategy for whichever factor they wish, for example if asked for the answer/product of 5x8 (meaning 5 groups of 8), they could count by 5’s 8 times to find the answer, they do not need to count by 8’s, but if asked to model a fact with an array or picture, students should ensure their model or representation is accurate, even if they use a different strategy to find the answer.

